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DO NOT
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Guidelines for the Candidate

you will get additional ten minutes to fill up information about yourself on the OMR Sheet, before the start of th
) e start O e exam.

Write your Name, School Code, Class, Roll No. and Mobile
share your marks / result and other information related to SOF e)g;"s‘t:)?\ry%fx?goo&léh:ug':: Sheet and do o orget o san . e

The Question Paper comprises four sections:

Logical Reasoning (15 Questions), Mathematical Reasoning (20 i i .
Achievers Section (5 Questions) 02 Gomsion, Braoiy Vosemeson ™8 S

Each question in Achievers Section carries 3 marks, whereas all other questions carry one mark each.
4. All questions are compulsory. There is no negative marking. Use of calculator is not permitted.

5. There is only ONE correct answer. Choose only ONE option for an answer.
OMR Sheet, use HB Pencil or Blue / Black ball point pen only. E.g.

6. To mark your choice of answers by darkening the circles on the
and 5 kg 300 g of mangoes. The total weight of all the fruits he boug

Q.16: Rahul bought 4 kg 90 g of apples, 2 kg 60 g of grapes
is

A 11.450 kg B. 11.000 kg
you must darken the circle corresponding to o

C. 11.350 kg D. 11.250 kg
ption A on the OMR Sheet. Fe. o © ©

As the correct answer is option A,
7. Rough work should be done in the bla
8. Return the OMR Sheet to the invigilator
9. Please fill in your personal details in the space

nk space provided in the booklet.

at the end of the exam.

provided on this page before attempting the paper.
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In the given Venn diagram, rectangle represents
scientists, circle represents people worked in NASA
and triangle represents people worked in ISRO. Which
of the following number represents scientists who
worked only in ISRQ?
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Find the missing number in the given number series.
4,15, 48, 147, _? , 1335

A. 364
B. 441
C. 426
D. 444

There is a definite relationship between figures (i) and
(ii). Establish a similar relationship between figures
(iii) and (iv) by selecting a suitable figure from the
options that would replace the (?) in fig. (iv).
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LOGICAL REASONING

Group the given figures into three classes
of their identical properties by ysjp geach g g basix
once. Te o,
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1,6,8;2,59;3;,4,7
1,5,7;2,4,6;3,8,9
1,6,8;2,4,9;3,5,7
1,3,7;2,5,9;4,6, 8
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Vikrant walks 70 m to the East, then turns ¢, his e
and walks 60 m, then he turns left again anq walkg
20 m. Finally he turns towards right and walks 60
How far and in which direction is he now from the
starting point?

A. 120 m, South-West

B. 130 m, North

C. 130 m, North-East

D. 120 m, South-East

Select a figure from the options which satisfies the

same conditions of placement of the dots as in the |

given figure.
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f the following figures is €Xxact]

! Wt::]ce given figure as one of its partgy 7 embeddeg
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. Hov many s ;ret tlhere in the given series each of
which is immediately preceded by an even number
il immediately followed by 5?
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A, Two
B. One
c. Three
D. Four

9. Select the correct mirror image of the given figure.
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0. Ifin a certain code language, GUIDELINES is written
as GRKWIUGPKN, then how will SEPARATELY be
Wwritten in the same code language?

A. TBRHUANWCD
9- UCRGVBNGVC
C. TCRGUANGVC
D.  UBRIUBNHVC

11,

‘@ stangs

for ¢+ and ¢ #,f::a;:’t:@" Stands for ‘—, ‘$’ stands
of 24©65$13@16 4 ;’ or ‘x’, then what is the value
A. 99 '

B. g7

C. 109

D. 61

12. Fi
Ind the number of triangles formed in the given
figure.

A 20
B. 19
C. 18

D. More than 20

13. How many pairs of letters are there in the word
APPOINTMENT each of which has as many letters
between them in the word as in the English alphabets?

A. None
B. One
C. Three
D. Four

14. Study the given information and answer the following
question.

P * Q means P is the sister of Q.

P % Q means P is the father of Q.

P § Q means P is the brother of Q.

P + Q means P is the mother of Q.

Then how will H be related to G in H%E*D$G?

A. Brother
B. Father
C. Mother
D. Uncle

o Bl e

15. Which of the following numbers lie on the fa
opposite to the face having number 6 when the giv
net is folded to form a cube?

A 2

B. 4
c. 1
D. 5
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ICAL REASONING

I MATHEMAT
. _ 800 A. 300
16. In the given figure, find the value of x, if ZBAC= B 45° \

and AB = AC.
A. 110°

B. 130°

C. 95°

D. 85°

If x = 3, y = -2 is a solution of the linear equation

17.
3x — ky = 1, then find the value of £.
A. 6
B. -2
C. 3
D. -4
18. If a sum of ¥ 25600 amount to T 36450 in ¢ years at
the rate of 25% p.a. compounded half yearly, then
find the value of ¢.
A. 3 years
1
B 1 — years
> y
C. 2 years
1
D. 2= years
5 y
5n+2 —6X 5n+1
19. Simplify : ——
iy 13x5" —2x5™
A 1
B. 0
R
3
p. 2
3
20. In the given figure (not drawn to scale), ZACP = 40°

and ZBPD = 120°, then ZCBD =

5t

B

Cc. 20°
D. 35°
to make it a perfect square number? lag
A. 68
B. 92
Cc. 87
D. 58
22. The given histogram shows the number Of Workerg "
different age groups. Study the graph carefully o,
answer the given questions.
YA
T 80 ]
g 70
g 60
E 50
=
S 40
B 30
;é 20
10
¢ 10 20 30 40 50 60 70 80 i
Age groups
(i) Which age group (in years) has the highest |
number of workers?
(ii) Find the ratio of number of workers of age group |
30-40 to that of 60-70.
® (i)
A. 30-40 2:3
B. 50-60 3:2
C. 60-70 4:3
D. 20-30 3:4 '///
23. Factorisation of 2x2 — 5v/5x — 15is ____——

(x=/5)2x+35)

B.  (2x++/5)(x-35)

C. (2x=3)(x+2v5)

D.  (x+35)3x-5) e
opsaall®
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+)’+Z=§’xy3+_fzji?=_l andxyz:‘l,then "
o Iti: yalue of X" Ty T 2 IS: tep 1: Draw OR=55cm,
;’ 1 Step 2. Draw ZXOR =75° at Qand ZQORY=45°atR.
B. 1 Step 3: wity Q as centre and radius 5 cm, draw an
C- ) arc to intersect OX at R.
%/\ Step 4: with g as centre and radius 7 cm, draw an
The pumber of .faCeiSs Tw'c:) I:E.ly(:ledron is § and tota] aIc to intersect Ry at S.
2. umber of YerthGS 1 1rd of the _total Number Join P to §, Thus, PORS is the required quadrilateral.
does. Find the total number of Vertices,
of €48 A. Step1 only
A 8 B.  Step 2 only
L ¥ C. Step3 only
C. 22 D.  Step4 only
D.
} 31. ABCDji , is produced to E such
¢, In the given figure, DEIIOR and AP anq gp 4, that El;sbailsizzlll:(ljog:i)ngeiﬁsiigoo: the following
" pisectors of ZEAB and ZRBA Tespectively. Find the R — ne
measure of ZAPB. '
r A. AB=OE
<2 4 E B. 4B=BE
b C. OE=0cC
o o D. None of these
" 32. If 2_x_4_y =4 and xy = 60, then what will be the
A. 70° 3 5
B. 65° value of ixz +Ey2 ?
c. 90° 9
D. 85° A 76
. ' . B. 80
21. Things which are equal to the same thing are C. 48
to one anothe-r. D.. 56
A. perpendicular
B.  not equal 33. The point whose abscissa and ordinate have different
C. equal signs will lie in:
D. parallel A. Tand II quadrants
B. The ratio of two numbers is 7:5. If each number is B. Il and III quadrants
decreased by 3, then their ratio becomes 3:2. Find C.  Tand III quadrants
the sum of both the numbers. D. 1l and IV quadrants
A 64 34. 1f a and b both represent single digits in the number
B. 48 5
C sg 3a9b94, then for which of the following value of
D.. 36 (a + b), the given number will be divisible by 117
9. Th : ; i 8 cm AT
¢ area of a triangle, two sides of which are 8 ¢ B. 6
ar}d 11 em and the perimeter is 32 cm, is k+/30 cm?’. C. 9
Find the valye of k. D. 8
A 3
B. ¢ 35. A cone, a hemisphere and 2 cylinder are formed on
C. - the same base and with same height. The ratio of
D. 9 their volumes is e
+ Given below are the steps of construction of a ‘; ? ; i
q“adrilateral PORS, where PO=5cm, QR=55 f:m .
andR = cm, ZPQR=75° and 4QRS=45°,Wh1Ch C. 3:1 ' 2
of the following steps is incorrect? B 132
|M0 | C|ags.

9 | SEt-A 11 avnl 4 1 (1




36.

37.

If a solid sphere of radius 12 cm is moulded into 8
small spherical solid balls of equal radii, then the
surface area of each ball is

A. 457 cm?

B. 1087 cm?
C, 1447 om?
D. 124n cm?

A shopkeeper marked 25% above the C.P. on an article
and then gave a discount of 10% on that article. Find
the profit percent of shopkeeper on that article.

A 1534,
4
B. 81%
3
C. gi%
5
1
D. 12-%
2

38. A triangular park has sides 120 m, 80 m and 50 m.
A gardener has to plant grass inside. How much area
is available for plantation?

A. 1805 m?
B. 375V15m’
C. 270V5 m?
D 225+/15 m*

39. In a hostel of 300 students, there is sufficient food
for 24 days. Some students left the hostel and now
the food lasts for 36 days, then how many students
have left the hostel?

A. 175
B. 150
C. 200
D. 100
40. The cost of a notebook is twice the cost of a pen. If

the cost of a notebook is ¥ x and that of a pen is ¥ y,
then a linear equation in two variables to represent

the given condition is

A, x+2y=0
B. x—-2y=0
C. 2x+y=0
D. 2x—-y=0

41. A, B and C are three taps connecteq ¢, at “
an k

B t(?gfether fill the taflk in 8 hours, and ¢ 4 ang
fill it in 12 hours while 4 and C together i, ge‘he;
in 16 hours. In how much time 4, g and ¢y, the © lay

fill up the tank?
14

. 9— hours
& 13
17

9— hours
B. 3

17
i 8 — hours
¢ 13

D i i hours

) 13
——

5
By walking at 7 of his usual speed, 5 man Teache,

42.
his office 14 minutes late than usual time Fing
usual time taken by him. the
A. 35 mins [
B. 49 mins
C. 63 mins
D. 1 hr 12 mins

‘ ] |
43. In a party, certain number of people were —

Each person contributed twice as many rupees as the
total number of people. If the total contribution wass
%4418, then find the number of people present in the

party.

A. 36
B. 38
C. 41
D. 47

44. 8 children and 12 men complete a certain piece of
work in 9 days. If each child takes twice the time
taken by a man to finish the work, in how many days |
will 12 men finish the same work? !

A. 8 days

B. 15 days

C. 9 days

D. 12 days B
45. A rectangular field has an area (14x° - 1Y~ 151)'?1]1(1.

What could be the possible expression for leng™

breadth of the field?

A. (3x-2)mand (5x +8) m

B. (7x+5)mand 2x -3) m

C. Both A and B

D. None of these , /\
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grate ment-I: The radius of a sphere is 10 ¢ [f th

radivs is increased by 5%, then the ratio of surfa :
ce

red of tWo spheres will be 40:41,
a

st,tement-llz Aright circular cone is 5.4 cm high and
radius of its b,a 5¢ is‘3 cm. If it is melted and recast
o another right circular cone with radius of base
15 cm, then the height of the new cone is 21 cm

Statement-l is true but Statement-II is false
Statement-I is false but Statement-II is truel.

~ Both Statement-I and Statement-II are true.
D. Both Statement-I and Statement-II are false.

g In the given figure (not drawn to scale), 4B is the
diameter of the circle with centre O. If ZABQ = 57°
JOAR = 32° and ZABP = 53°, then find:

(i) the value of ZBQOR.
(ii) the ratio of measure of ZBPA to ZBAQ.

0 (ii)
A. 140° 12:7
B. 135° 24:13
C. 150° 8:5
D. 115° 30:11

bowe B

48. Fill in the blanks and select the correct option.

(@) If (52) = (125", then the value of x is P

(i) 1f3 = 1.732, then the approx. value of [3—:—1
NERS!

is_Q .
(iii) The value of 0.7+0.47 is _R .
(P) Q) R)

AT 0732 7/90
B. 1413 0268  113/90
C. 4 0414  43/90
D. 1453 1732 409

49,

Solve the following questions and select the correct
option.
() If (x + 1) and (x — 1) are the factors of

Px3 + x? — 2x + g, then find the value of (p + q).
Lo
(i) If x*+y*+2z*=0, then find the value of

(x+y+ z)’
xyz .
() (i)
A 1 -36
B. -7 64
C. 1 27
D. 4 -125

D4 =B

50. Study the following statements carefully and select

the correct option.

1

3x y :
Z-o—,(-1,1)1s
3 1,1

2

; . -1
P. For the linear equation —— =
one of the solution.

Q. Ifx=3,y= —75 is the solution of linear equation

k — 3x — 2y = 0, then the value of k is 17.

R. The abscissa of all the points on the y-axis is
0.

A. Only P is true

B. Both P and Q are true

C. Only Q is true

D. Both P and R are true

Iuh 1 A,
s AT

= 1 | %




{"type":"Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

